PART

[204] [«
8.04
Adjustable
Trolley points iy [23]
Pivot Lock
Release
L
153!
Loos] "35>
35,74 : g =~
[431]
[12 16,96
51
P, [102]
T It
5
) DETAIL B
[ ] 24 SCALE1:6
1096 (18] |« ¢,
43,15 741 | ¢
| b4 Shown with std 3" T-handle Mandrel
P 2 Mandrels sold seperately
o
0o0QoOo000QgoO00
R
T T
. |
J Both pull pins must be engaged.
s Adjustable arm set to optimize
o _‘:—_JH turning force based on roll width
[s6] o |=—— [s565] _pevisiens
221 2228
REV UESCRIF TTON DATE INTITALS

ITEM
NO. PESCRIRTION O\
NG~ NUVBER BESCRIPHON OFY-
DETAIL A 1 |K040009 M12 x 1.75 x 100 Hex SHCS 2
SCALE1:8 2 |K040126 M8 x 1.25 x 16 Hex SHCS 1
3 |K040278 M4 x 0.7 x 6 Hex SHCS 1
4 |K040460 M6 x 1.0 x 25 Socket FCHS 1
5 |K040522 M5 x 0.8 x 10 HHCS 1
6 |K040567 M12 x 1.75 x 30 HHCS 10
7 |K040825 M10 Lock Washer 2
8 |L-10413-06R2 Mandrel Locking Plate 1
9 |[L-10461-04 MRT-500 Pivot Pin 1
10 |L-10627-07 MRT turning handle 2
11 |L-10780-01R1| MRT-500-ADJ Mandrel Arm 1
12 |L-10780-02 MRT-500 Pivot Block 1
13 |L-10780-03 MRT-500 Crane Block 1
14 |L-10780-04 MRT-500 Locking Pin 1
15 |L-10780-05 MRT-500 Locking Bar 1
16 |L-10780-06 MRT-500-ADJ auto level kit 1
17 |P-10053 M12 Lock Washer 10
18 |P-10087 Revolving Handle 2
19 |p-10122 6877 0D xci.ri5mlong comp. 1
LA
20 |P-10293 M5 Lock Washer 1
21 |P-10389 Wire Lanyard with Tab 1
22 |P-10829 retracting thumb screw 1
23 [P-11086 .5" x 4" Quick Release Pin 2
24 |P-40362* 8mm ID plain bushing 1
25 |P-40386 40mm Taper Roller Bearing 2
26 |P-40387 Tab Washer 40mm 1
27 |P-40388 Slotted Nut 40mm 1
28 |P-40462 Bearing Ring 40mm 1
29 |P-10121 M8 Finish Washer 1
30 |K040106 M8 x 1.25 x 20 Socket FCHS 1
MRT-500-AL-ADJ
Max Capacity: 500 lbs (227 Kg)
Max Operator Force: 25 Ibs (111 N)
parts marked with (*) indicate recommended spare parts to be kept on hand, per unit
THE INFORMATION CONTAINED PART. NO. )
IN THIS DRAWING IS THE SOLE
PROPERTY OF SCHLUMPF INC.
ANY REPRODUCTION IN PART OR L-10780
AS AWHOLE WITHOUT WRITTEN
PERMISSION OF SCHLUMPF INC.
IS PROHIBITED.
SIZE UNITWEIGHT (Ib)
DO NOT SCALE DRAWING 102677 . )
DRAWN BY DESIGNED BY DATE CREATED
Rich West Rich West 8/3/2009
MODEL DATEPRINTED
MRT-500-AL-ADJ (manual roll turner) 9/17/2009



mailto:mail@schlumpf-inc.com
http://www.schlumpf-inc.com/

MRT-500 capacity range - 16" mandrel arm MRT-500 capacity range - 18" mandrel arm

Roll width (in)

Roll width (in)

o N M O ©

150 175 200 225 250 275 300 450 475 500 100 125 150 175 200 225 250 275 300 325 350 375 400
Roll weight (Ib) Roll weight (Ib)

MRT-500 capacity range - 20" mandrel arm MRT-500 capacity range - 22" mandrel arm

A yEatioe roll wolght & width

Roll width (in)

Roll width (in)
w
o

24 and curve {sold

150 175 200 225 250 275 300 325 425 450 475 500 100 125 150 175 200 225 250 275 300 325
Roll weight (Ib) Roll weight (Ib)



